EARAROBEEIERT — 2 N— IBISH —F

2012528370 (K) 26BEH1H

el >%4mE C3= B I
[A&E4£] 1 7 :200,000 @ 2 7% :36,000 @ 3% 18,000 ~ 43%:10,000 5 3% :6,000 ©
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o K B ABR :30. -3-3- . — TR (EE
1Bl 3| 77T/ 7x o4 B 1(3_0)0 3-3-3-3 | 38.3 2 :7; L mm
:77V—-h~ B:r14I140-X FHBE%E
.= REFR :30. -1-1- . — RF=E (EH
207|7|7—WETAH4— "o 1286 R ’ f;) RAIRE
R:bIHATAF— Bivv/N=—Fz)b =M =H8
— e s &N : -9-7-~ — Az (EH
sl 2 FTLTE Y "] 1(73?:)7 I ‘ <4+731) EaB—
:FT7A4T7 B:7—-WNXy b FEHiS
e 410 | BEEE 1:30.8 2-2-2-2 [ 39.3| — 5 440 | MATHIERS (FEH)
41810 TRA LA 54.0 (3/4) (-3) ﬁ%ﬂa@ﬁ
L:ORYIFRYT—/ BiESX—N—7 "
< = Ela:53=EIN : ~5-4- - IOE= (i
5 4 ZHLISTI 4 4 o 1.(311).0 5-5-4-4 | 39.0 1 ;1_314) o
R:F>T747 B:AAIvHY— w5 =HEB
S 3 ft 8 | Ati—R 1:31.2 6-6-5-5 |39.1| — 7 459 | WIOXE (Fh)
611 | AT—FIvRI> 54.0 (1 1/4) 4o |EEBE
R4 XS 0 ML B RS — bARILS—7 UL ¢
o= N o =S — : -10-10- — IRHKB (FEhR)
75| 5 | AATHFISA - it 5 . 1.(?3).8 9-10-10-10 | 39.5 8 <4+623) s
L:2¥v2—H¥d—-ILK BTV LT r— EANILBES S
& s IRAFIH :33. —7-6- . - AR (EMA)
8 6 e DA E D 4 4 o 1(323)1 7-7-6-7 | 40.9 6 ::537) e
R:4¥2v3AY BVRELFUL K—ZENLTZT AR
4 6 | WIEBHH 1:33.4 8-8-9-9 |40.4| — 10 500 | ¥ (FEH)
9|8|l9| /T MATAH 56.0 (1 1/2) (o) | @ 77-2rEVas
Riza—A2952F B:44T774—K JBHE BB
- 2 B4 | HHE— 1:33.7 3-4-8-8 |41.5| — 9 423 | FifE (EME)
10/7| 8| ¥A7>7R-7 _ 54.0 A 1/2) (a) | LEBF
R:TS5RTLE— BiATxv 45 BRI — L
® 1—F—@EBIERL
13—7F#— |7,10,(3,8),4,1,6,9,(2,5)
20—F— 7,10,3,8,4,1,6,9,2,5
Ja=5= 7,10,3,4,1,6,2,8,9,5
40—+ — 7,10,3,4,1,2,6,8,9,5
[ /N
B 3 320M 714K 3-7 420 e E 3-7 1,250 JEE 2-3-7 4,760
B B 3 1204 2-3 680M B = Sl 1,300 EE 3-7-2 16,350
7 380H 2-7 860M B H 3-7 2,510
2 520M

ABICOVWTRDTEEERROODE. TR LIV,




